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Three beaker 2 ml, 5 ml, 10 ml capacities are having liquid at same temperature. Heat
energy is 5 ;

(A)

v
(©)
(D)

Equal in all the beakers

2 ml beaker has lowest heat energy
5 ml beaker has lowest heat energy
10 ml beaker has lowest heat energy

2 ml, 5 ml, 10 ml Qanérerareyarer ppenm Garasaasaild @Cr Qauliufleaauid o drer Sycurigen
emeudsELIUL (Hererar. QeuliL SyHmeTeng, 3

(A)
(B)
(©)
(D)

imSHILD FLOD

2 ml Qsrarsafle Gamne
5 ml GQsreraoaiia Gamney
10 ml Gsrersoafla @eanay

Match the following instruments with their energy conversion.

(a)
(b)
(c)
(d)

(A)
v
©)
D)

Heat engine 1.  Light energy into Electrical Energy
Photo electric cell 2 Electrical energy into sound energy
Microphone 3.  Heat energy into kinetic energy

Loud speaker 4 Sound energy into electrical energy

(a) (b) (©) (d)

PN O I v
- G0 W
W = 2

1
3
4
2

Spaarr smelaaiern 2nme WIHPSmS LA S.

(a)
(b)
()
(d)

(A4)
(B)
©)
D)

@eutius ergpdlen 1.  qafl g mme Wenarmhpens
gpafl Wenseen 2. enenmHmed edl MHMmevTs
anw&CrmGume 3.  Qaulu yHne, QusEs 4 hoers
@NQAumsS 4. @ yHna BereatHmeans

(a) (b) (c) (d)

LA I
= N = O
e A -
W = o
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3. Which element is toxic among Boron family?
. ~ (A) B -—Boron
(B) Ga-Gallium

W’ TIl-Thallium

(D) In-—Indium

Gumgmen &(HLUSS 678 &6YD HEsS SeTenid 2 enL g ?
(A) B Gurymar

(B) Ga — smallwid

(C) TI-gredwid

(D) In-— @eimquid

4. A molecular orbital can accommodate only two electrons and these two electrons must have

opposite spins. This principle is known as
(A)  Aufbau principle
(B) Hund’s rule

Heisenberg principle

d Pauli’s exclusion principle

(5 P& .%r'nﬁh'_l_rra‘jleb @ranm@® s grenadeer WL (B Hlyiu @uaib. obs e

resLymens @b rdydli spnélaw 2 L weneu. @&S55I6UD
(A) ool SHFAID

(B) aprar el
(©) Ganwsearuns Csrlur®

D) urden selisms sg@D
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Match the following :

Hormone ' ' : | Disease
(a) Deficiency of growth hormone 1.  Diabetes insipidus
(b) Deficiency of vasopreesin 2 Grave's disease
(¢) ~Deficiency of thyroxine 3. Dwarfism
(d) Increase of thyroxine 4.  Cretinism
(a) (b) (c) (d)
A 2 3 4 1
W 3 1 R
(O3 2 1 4
D) 1 2 3 4
QuTHSZS -
ammrGomet . Crmiger
(a) euerad) ariGLTeT Gmneusme 3 i e wr@ues @WQ@LGM '
(b) eurCenrli Myevedlen @Gammaeus e 2. HCrefler Crmi
(c) amsymselen Gemmeusme 3. (GETETSHSETENLD
(d) esyraedien sflswmeugme 4. S Mg eflevid

@ G e @

@y 2 3 4 1

3 1 4 2
© 3 2 1 4
Dyl s 2 3 4

Primary waste water treatment removes how many percentage of suspended solids?
50-65% (B) 45-55% '
(C) 30-40% ' s SR SR G0=95%

weofloo sPlabt ssdafliy apab assmen ssaishd SHLssflaysan WssEL SLubummLsar
péstiupmSarmen?

(A) 50-65% ' (B) 45-55%.

(C) 30-40% (D) 90-95%
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Write the essential component mineral for the formation of chlorophyll.
(A)  ‘a’ chlorophyll (B) ‘b’ carotein
Magnesium . (D) Xanthophyll

ugensw Blpwlser 2 HUSSHEE Coameuwirear Sl eTg)?
(A) ‘a ugewswid B) b sCrmigermii(haer

(C) Quwsat&lub (D)  enpCsr1GNed

yh country will host the next United Nations global wildlife conference in 2020?

India ; (B) China
(C) . * Philippines : (D) Brazil

géaeﬁu_n pr@seafien euare_ulflaer wrpr@ 2020 <y &0 TH BTy el Cupelmesng?
A @pdur B) E&en
(©)  S9eflienuietien (D) Y9G

How many number of cities the union government selected to build infrastructure with
Rs. 200 crore each from government funding?

@y 18 \ai( 20
©) 22 (D) 23

<irs HHGNmHE 2 sl Lambly ausfésts parsdng . 200 Gamg aar s agsmer
B&IRIGEET el wien 2178 Coh0sHSg dTaTs) ?

A 18 (B) 20
(©) - 22 (D) 23

Who was the winner of the ‘Man Booker International’ prize 2018?

(A) Faye D’'souza \M Olga Tokarczuk
(C)  Ruskin Bond (D) Dr. Kamaljit

‘Man Booker International’ ufla 2018-6 wmme @ eupmisluLLg)?
A)  Sull wQearagr - B) gosrQirsriages
(C)  gevdlem Limetor (D) vLrsLi. sl

ft



11.

. 12,

13.

Who was appointed as a New Chairman of ISRO on January 20187

M K. Sivan

(B) K. Ramachandran
(C) Vikram Sarabhai
(D) Kiran Kumar

sanauifl 2018- ISRO-afler yflw geveveurns HluidlésiiuLeui wmr?

“(A)  Gs. Seuen
B) GCs. Unmé&ﬁ,ﬁl}&?
(C)  e&yb srymumi

(D)  &gewr Gomt

According to the RBI report, which state has the richest state in India?

d Maharastra

(B) Tamil Nadu
(C) Andhra Pradesh
(D)  None of these

RBI-én sapmilivig, @bdHuireiled uemrssmy mrrﬁla.uqnes @muug erg)?

(A) wsmyTEgGTT.

®B) 585 pr6

©)  =pdyGrCesd>
(D) Cwpsadlu age)sldme

In which year the Chandirayan-I was launched?

(A) 2004
(C) 2010 (D)

gpdrmwen-1 geudiul L e erg?
(A 2004 (B)
(C) 2010 ' (D)

2008

2012

2008
2012

HSGS/19
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According to 2011 Census, which is the least populated state in India?
(A) ~ Mizoram (B) Goa
Sikkim : (D) Thiripura

2011 wasar Agrans sams@as®Uder Ly, @bBHureld Gannbs waser Agras QararL wrHlew 6rg?
(A)  BOCsmyd . _ (B) Cameur
C) &sf> (D) Sfygr

Which state hosted the Asia’s largest ecosystem congregation on April 6 and 7, 20187
(A) Andhra Pradesh W Kerala

(C) Tamil Nadu _ (D) Karnataka

gure 6 wpgw 7, 2018-@e ‘Slwnellen WsLELMNW CsTL&8 @HYd @iy LIBTEH BLSSW
wrhleoid erg)?

&)  pdrGyCssn _ B) Csryerr

(©O)  sblpBTEH (D)  spTLsT

According to 2011 Census, which Indian state recorded highest population growth rate?
(A) Bihar (B) Nagaland
(C)  Jharkand W Megalaya

2011 wsser Ggrens samsbs@lben Ly Qb wrflomsalCoCu Ws au_nrr;r;g, Ww&sET AgTens
cueTT&d eigLb QLmm wrbleb erg)? ;

(A) Sami (B) prerenig
©) grisa (D) Cusreowr

What is the per capita income as per provisional estimate for the year 2015-2016?
(A) Rs. 72,889 (B) Rs. 73,435 '
() Rs. 75,335 - 7 Rs. 77,435

2015-2016-4b yeirigHamer @enL &&me S g e Lig SeflBLUT auHLNEID ereueuaTay?
(A) e 72,889 (B) em. 73,435
(C). e 75335 D) em. 77,435
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18. Among the following which planet takes maximum time for one revolution around the sun?

(A) Mars (B) “Jupiter

(C) Saturn w Uranus

Getreu(mb Caneraaia @Mweaner sni eur BawrL. srab eT(&g6 Qararesh Carar 6rg)?

(A)  Qeesaumis B) efwmpen
(©) safl ; (D) wCremev
19. India’s first automobile industry was started at
Kurla (Mumbai)

(B) Uttarpara (Kolkata)
(C) Sriperhmpudur (Chennai)
(D) Dumkur (Bangalore)

@;‘E.Qu_lrraﬁlsﬁ s Cor L eunsear Qgmfiherere Gam_msliul L @b
(A) e (wbeu) .

B) eggrumgr (QardasssT)

©)  GBaubug (Qssmman)

D) gibsai (QuiksEhm®)

20. Black soil is formed due to the weathering of

M Igneous rocks

Metamorphic rocks
(C) Sedimentary rocks
(D) Crystalline rocks

aflge warr erpgll urenpuien aunaflenad Hengellanmed o (Heundlenmg?
(A)  Suurepsaer

B) 2mordw urenmser

(C) euewtL e uTaMEET

(D)  ugslL uTeDSET

= - 9 HSGS/19
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21.  Which is the highest Plateau of the world?

M Tibet (B) Colorado

(C) Deccan (D) East African

2 FCCW W& 2 wiyorer S LW e7g?

(A) &AQus B) QarrmCLr
(C) sésmenr (D) Sués uGfss
22.  The length of the biggest Granary in Mohénjadaro was ——  feet.
(A) 200 \ﬁ( 150
(C) 176 ‘ ; D) 125
QursgrersrGrrelen el Quilu graflwué senesdlwib Sllg GLD.
(A) 200 (B) 150
(C) 176 D> 125

23. Who's period the Gupta empire reached to the Arabian Sea? -
(A)  Sri Gupta '
(B) Samudragupta
(C) Chandragupta-I

: w Chandragupta-II

wrhen i <& asrra)g_'r,@eb GLs Curyélen eraene M9s sL6 auany ureiluwig?
A Beust

B)  swpsdly GUBT

©)  wppemnd by GLST

(D) @uawLmb g687 GLIST

HSGS/19 10
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24.

25.

26.

]

When was started Saka era?

v 78AD. (B) 80AD.
(C) 100 AD. - (D) 120 A.D.

QUM 16 s&TUSL QSTmislu’ L g? :
a) 8978 (B) £.9.80
(C) £.9.100 (D) &.9.120

Which year Bahlol Lodi occupied the throne of Delhi
(A) 1459 AD. : O 1451 AD.
(®)) 1457 A.D. (D) 1453 A.D.

eTh& perrH LuraperwCayg GLdellenws enaliupdlerm?
(A) £.49.1459 (B) &.49.1451
(C) 4.49.1457 D) &£.49.1453

Nanda Devi Bio Reserve present in which state of India?
(A) Tamilnadu

' ~#” Uttar Pradesh

(C) Arunachal Pradesh
(D) Megalaya

@nHwreller erhg mnﬂ@ﬁﬁsﬁ BHSTCsHEN 2 udflwed QupeueaTRIGET DienDHFIETETS) ?
@A) s8p5mH

(B) 258r0d7Csed

(C). <mamnaals 9yCsab

(D) CGusmeowr

How many members are nominated by the President of India for Rajya Saba?
(A) -2 B) 5

© A v 12

@pHu Gigwrsd g,'ma)aur'r TTRW FUEE assmar 2 pudarisamen Hluwwernd Qaudpmri?
(A) -2 B) 5
(€)= 7 D) 12

11 HSGS/19
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28.  Who is regarded as the architect of Modern India?
(A) AP.J. Abdul Kalam
(B) Gandhi

M Jawaharlal Nehru

B.R. Ambedkar

Bedern @bl uimadlen @@ﬂmwé-&@gﬂu@umﬁ -
A)  APJ. g seonbd

®) anpg

(C)  seuanrerd Crm

D) Y. SbGussTT

29 In which year the Legislative Council of Tamil Nadu was abolished?

A) 1985 " 1986

(C) 1987 D) 1988

SOIDBHTL g6 Coeenel eThs <24,ammlq 6) SeadESILIL L g7
A) 1985 (B) 1986
(C) 1987 D) 1988

30. Who is known as the fa:cher of Local Self Government?
(A) Lord Mountbatten ‘
Lord Ribbon
(C) Lord Curzon
(D) Lord Canning

2 aremm_ & DTEThISSH 6 SHeS GTAT HMPSSILI(HUGIT
(A)  weyem Gu Lem Gy

B) MAduer Qry

(C)  sfgen Gy

D) srafim Qyy

HSGS/19 - 12
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31.

32.

33.

To define “Poverty Line” in India.
The Seventh Finance Commission used a concept called

(A) The above poverty line

w The augmentéd poverty line
(C) The below poverty line
(D) The family planning

@rgureile aumienind Camig ener auen I mI&s.

Fpraug HFEE W ————— aa@ib Lflus smms LwetuHsdlug.
A) =dls aumienwsCar(

(B) BlussiiulL ammwsCard

(©)  E@mpeaurear cugenw&EGam(H

D) EELLSs._ELUTEH

Many workers in urban areas suffer from ———

M sub-employment - (B) unemployment
(C) seasonal employment (D) under employment
BaTL DR Couana QFILD LT ————— DM nTTsET.
A) 20 Ceaueneveumiiliyy (B) Geuenevulemanio
(©) umauste Geaumeveumiiliy D) G Ceuemereumiiiy
In 2002-03 the contribution of agriculture to national income was ———%
A 30% 7 25%
(€)1 40% D) 20%
2002-20030> 2yaria @ B[ auoTaTESd Gauamramanouian Lkisafiy ——%
(A  30% : _ B) 25%
(C) 40% D) 20%
i HSGS/19
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34. Universal Primary Education aimed at achievement of education for all class covering

@y ISk & v

(C) XI-XII (D) VI-XII

Smanal(HEGD sl dst(h&s Geuam(Hib erearm @‘njﬁu_l <irs arayflanw Qan®ssg hHs

wGUEDNEG :
Ay - VI=X : @) I-¥
(C) XI-XII (D) VI-XII
3. A special reward will be given when women get married at the age of
A 17 (B) 18

21 - D) 20

T8 N Wen Slmwanrid Hsliwb AuersEnse fpuy GeauEwdl seflsauu@n?

& 72 R L " B) 18
(). - 21 (D) 20
36. Given below the Prime Ministers who decided to implement. the Mandal Commission
Report?
V.P. Singh

(B) Morarji Desai
(C)  Rajiv Gandhi
(D) Indra Gandhi

Spssam Urgorsafles waro sulager Sidlsmamu bl p@nULBES (pigey bEligeul wrr?
(A) 9.9 fm

(B) Qumyred Csemi

(C) grfeu s

D)  @pdlrm 5154

HSGS/19 14

]



37.

38.

39.

40.

L]

Which year the Ilbert bill was introduqed
(A) 1863 B) 1873

\V 1883 (D) 1893

@eur’ wCersm erhg pan () QaramBeauriiulLg?
(A) 1863 (B) 1873
(C) 1883 - (D) 1893

Who wrote the book poverty and UnBritish Rule in India?
(A) M.G. Ranade
(B) Gokhale

W Dadabhai Naoroji

(D) M.K. Gandhi

@ndwreller aumieniouyd ML g6y SerenowiHm S Suyb erenn Heva er(pHluseum?
(A)  M.G.graGL

(B) CsrsCe

(©) srsmumi QperGrmed)

(D) MK smpé

The HCF of 108, 360, 408 is
A) 4 ) B) 8
12 D) 16

108, 360 wpmid 408 g dlw eramsatien BUGLIMH QUTE) 6u@E eTam ereanLIg)
A 4 ' (B) 8
© 12 (D) 16

The LCM of two numbers is 2079 then HCF 1s 27. If the 1% number 189, then the 2nd
number is

A4 179 B) 197

" 297 D) 279

@ren(h eramsaflan B&fly Qung eue ereir 2079. BUGUM Quingy eu@; ereir 27. DBl APSD GremT
189 erafleb 2eugy eremr wing)?

V(A 179 (B) 197
(O) 297 D) 279

i HSGS/19
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41. At what rate percent compound interest per annum will €640 amount t6 3774.40 in 2 years

A) 5% | B) 6%

©) 1% & 10%

@[ gal_(Heulg @pepulle) 2 pampaatiasr i 5.640 peng em.774.40 5 Hev_sstt QuDDTED,

‘opeT([H eul_lg 65HLD GTerEn ?
@) 5% B) 6%
(GRS : D) 10%
42. In a circular path, the radii of 2 concentric circles are 56 m and 49 m. Find the area of the

circular path.

(A) 3210 m” . M2310 m”

(C) 3120 m* (D) 2130 m?

@ il L uumeguder @)@ Gumrgemow el Lkiger b 56 S womib 49  erafled eul L1 urengulien

Tl & STesms.
(A) 32105 S " (B) 23105

(C) 3120 & 2% (D) 2130

43. A play ground 60 m X 40 m is extended on all sides by 3 m. What is the extended area

‘(A) 366 m® : (B) 666 m>

& 636 m’ (D) 638 m’

60 B x 40 S yereierer ellevaruT () @LSTESHD J@EBHU UESREEHD 3
allflejuiuBgsuu@Sng — elfleyuBssiucL ugHulle urlueTe| eree?
(A) 3665 . (B) 6668

(C) 6368 _ (D) 6385

HSGS/19 ‘ 16
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44.

45.

46.

Rl

The Lateral Surface area and Total Surface area of the cube having side 24 cm are
respectively.

(A) 3204 ‘cm?”, 4365 c¢cm?
(B) 4302 cm?, 6534 c¢m?

& 2304 cm?, 3456 cm®

(D) 2340 cm?, 5634 cm?*

U&S SjeTe] 24 cm 2 LW @ saFgiTsen Lnuugiy womib Qurésts ugliy erarug wanGu
(A) 3204 Qaif’, 4365 Qe |
(B) 4302 Qa8 6534 Qs
(C) 2304 QaiS’, 3456 Qa8
(D) 2340 Q&' 5634 Qs

A alone can do a certain job in 25 days which B alone can do in 20 days. A started the work
and was joined by B after 10 days. The work lasted for:'

- 2
(A) 12% days (B) 143 days

V)

(C) 15 days : M 6% days

e® GIUALL Caumeamw A 25 preEsseer wglurr. Cogb B sellurs ips Gsuméosmu_l
20 prisefler apigpliunt. A Ceuameverw QgrLmdl 10 prarser 5055 B Cardprt erafler <ibs Couenay
(Plg WD BTL_&eT.

“

@) 122 priser ' . (B) 14% BT E6T

©) 15 prisdr D) 6% prCaar

Insert the missing number
5, 17, 14, 26, 23, 35, 32,
(A) 64 B) 54

7 44 | (D) 34

(ML L GTERTEN 6T &S,
5, 17, 14, 26, 23, 35, 32,

(A) 64 (B) 54
€ 44 (D) 34

17 HSGS/19
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48.

49.

it

The G.C.D and L.C.M. of the expression a*, a***, a***(k € N') are respectively

@AY, a* a** s B)ica " ok

a®, a**?, a"*? (ke N) erenp Gareneuuden 5.Qum.eu wHmbd 8.Qum.w @mm@m
(A) Gk, ak+2 (B) ak—'l., G}:
(C) af : Gf +3 (D) GF G.lr-*—')

\Vhich is true for the statements?

(a) The degree of the polynomial is the highest (non-negative integer) power of the

variable involved in the term

(b) The G.C.D of co-prime factors is 1

(c) The LCM of ab, be,ca is abe

(d) 1 is the prime number

W @, ®), (© only

(B)  (a), (b), (d) only
(€) (b), (o), (d) only
(D) all

Gerreu(mid sapmisefla erg sflwimeng)?

G&eODeUDD (LP(PESHET GTewT
(b) sy uasT srremisafian B.Qum.eu 1 @0

-

(c) ab, be,ca erenm Gameneuuen B.Qum.b abe oy,ELD

(d) 1 e LIS 6Tewr

@) (), D), © wLED
B) (a), (b), (d) vLE®
(C) (b), (¢), (d) LGB
(D) e@assD

19
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'50.  Match the planets with their escape velocities.

(a) Earth 1. 60 km/s
(b) Mercury g, 11.2 km/s
(¢) Jupiter 3. 2.5 km/s
(d) Moon 4 4 km/s

(a) (b) (c) (d)

Ay 1 3 2 4

2 4 1 3
(C)r 4 2 3 1
D) 3 1 4 2

~ Ganeraener Seundlen el Hu® Ceussgian @UABS.

(a) yed 1. 60 km/s
(b)  ysem 2. 11.2 km/s
()  eSlwmped 3. 2.5 km/s
(d) Hleay ! 4. 4 km/s

@ ® © (d)

A 1 3 2 4
B) 2 4 1 3
©y.. 4 2 3 1
D) 3 1 4 2

51. A spherical ball is allowed to fall in a hlghly viscous 11qu1d ‘Viscous force on the spherical
ball does not depend on

(A)  Coefficient of viscosity
(B) Radius of the sphere
(C)  Velocity of the sphere .

M Mass of the sphere

Carer @em(h e idls urr@gﬂsmu Qe 5nm§§1@n@L ECrTad pamb GCung), Camer @erigen
Bg Qewpu@b ur@ghlane ellame e sTTHEE 6.

(A) urdlwe eresr

(B) Csrergdlen b

(C) Garerl Qumrpefler SlensGousid
D) GCarert Qummetlen Hlevm
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54, Statement 1 : When blood comes out of the blood vessel haemostasis occurs.

Statement 2 : Thrombin converts fibrinogen into fibrin.

Statement 3

Statement 4 : Heparin present in Baséphﬂs inhibit blood clotting.

(A) 1 wrong, 2 correct, 3 wrong, 4 correct

(B) 1 correct, 2 correct, 3 wrong, 4 wrong - .
(C). 1 wrong, 2 wrong, 3 correct, 4 correct

v

ampm 1 s ghul_ @ @rsst Qeuelluu@iClUrg afGuoravL rfea Carerndns.
ampp?2 o sCymb@en.eudfGamgaman Samulflans wrhndang.

Fapm 3 L Qrsss Grudaer @gg,lg,ua 2 s gGrmbGuTSlen eramiu(Hib.

sampm4 - CUGsmAprsafld o arar aflCiuTAan @rEs 2 @nsme L AEin|b.

1 correct, 2 correct, 3 correct, 4 correct

Cupaapliul L sadhniser Fflureareneur ere seorL_l.

(A)
(B)
(©)
®)

1 seum), 2 &, 3 geumy, 4 &l
15M, 2 &M, 3 seaum, 4 saum
1 seum), 2 seumy, 3 &fl, 4 &l
1 &, 2 &M, 3 &M, 4 &

'55.  Who proposed the “Natural Selection Theory”?

(A)
B)
(©)

N4

Lamark
Linnaeus
Hooker

Charles Darwin

Qupes Coiey Garearengemw GeafludilLaif wri?

(A)
(B)
©)
D)

HSGS/19

QTS
eSlenGarren
AN CHSHT

gFrireuen Lmiedles

22

Occurrence of blood clot with in the blood vessel is known as Thrombosis.
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56. The family included under the series unisexuales is

(A) . Solanaceae

W Euphorbiaceae

(C) Malvaceae
(D)  Musaceae

weQesaGaucen eremm auflensudé o arer GICIHINT
(A)  GereorGerd

B) weCurmGGuwié

©C) wroGaud

D) ByCedl
BT Consider the following statement, choose the correct answer from the codes given below.
Assertion (A) : Beadle and Tatum discovered the relationship between genes and
enzymes in fugus Neurospora.
Reason (R) : For their work they were awarded Noble Prize.

(A) and (R) are correct and (R) is the correct explanation of (A)
(B) © (A) alone is correct (R) is incorrect
(C) (A) and (R) are incorrect

(D) (A) and (R) are correct but (R) is not the correct explanation of (A)

SsTamib eursHumisama gL wirs Qarar® eflwraans Cairey Qaws.

gapm (A) . BensEpiEb prsErsen @ Gw & b Qgrimlemen Siged WHHID LML LD
erenuau&er bluyCrrevGumym erenn L, Ehensusley seirLHlbsenr.

smpemrid (R) @ @Qbs c@ilﬂm'&.GﬁT@@qulﬁl‘r}b&n& Comue ufle aupmsliulLg.

A) (A wombd (R) @reanr@w #fl (R), (A) 2.enw sflwunen ellengaomgid

(B) (A w @w s (R) seum

©) (A wogw (R) GramBiv seup

D) A mr,'r;g;uﬁ (R) @rewm(®ho &M (R), (A) 2_enw sflwmen eflangainde

f
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58. Which state government declares holiday for women staff on March 8, International
Women’s Day?

(A)  Maharashtra "(B) Kerala
Telangana (D) Arunachala Pradesh

& 8 2 s waalli Heardams waafli afluisEnsE elHpenn Sarorns oiMaiss wirblew oy erg)?

(A)  wanTrregyFT : (B)  Csyern
(C) Clsaumisment D)  smewrssa 97Cseb
59. Who was sworn in Malasia’s Seventh Prime Minister on May 20187

(A)  Mr. Najib Razak

W7 Mr. Mahathir Mohamad
(€)  Mr. Justin Trudeau
(D) Mr. Lee Hsien Loohg

G 2018-6b wCGavSlwimeSlen eriproug) Ly LD‘r_'r;Qﬂu_lrraa ugell Guipmeu wimri? -
Ay S pgdu gens

(B) &m. wardli P&

© Ao gavger gy,

(D)  Sw. &5 e gy

60. A member of a State Public Service Commission can be appointed and removed by
respectively by

(A)  Governor, Governor

W Governor, President
(C)  President, Governor
(D)  President, President

@ bl oiys Cameu S amamugdler 2 minfarnt wryre (weanCGu Hlwllés wHmd B&s (i ub?
(A)  pEsph, Enph

(B) DLEBE, (Gq T8 Seneeur

(©C)  BYWIs SOOI, 4 EHBT

(D) @Lq.m.qa; SHENGGUIT, (Glq LITEH SNV
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61.

62.

63.

i

A newly discovered organ could change own understanding of Human Anatomy is
(A)  Lunkivitus ; (B) Pansitium
(€C) Intestinium . \M Interstinium
waflg 2 L pamplwe uHdlw BLog ulﬂg,c;m;) WIDDH&EFIg UHSTE seT_dlulu’ L 2 miliy
(A) eomdeilev (B) wemerSliquid
©€) @en_evgeflun : (D) - @en_revigeflwib
On June 3, 2018 long range ballistic Missile Agni 5 was successfully fired from
(A)  Sriharikota (B) Bali Island
W Dr. A.P.J. Abdul Kalam Island (D) Baren Island
2018-b e men 3-0 BawrL. Qosms srEsuOn Asal 5 geysman Qeupmsrors
ufGerdlésliu’ L @b
(A) whanfCamLm ' (B) umal Sey
(©)  vLréLr AP.J. oiugie seomb Say (D) wngen Say
With reference to Zojila tunnel project which of the following statements is/are correct?
(1) Zojila tunnel project was inaugurated by Prime Minister Mr. Narendra Modi on May
2018.
(2) The project will reduce the time taken to cross the Zojila pass.
Choose the correct answer using the codes given below :
(A) (1) only - (B)" (2) only
W Both (1) and (2) . (D) Neither (1) nor (2)

Qeagredler (Zojila) Genay eufl S b smiuns Gemau(mid sapmisafled eTg)/eraneu ifl?

(1) Qegrelleor @enay el (Zojila tunnel) L geng Ypswi Sm. sCrudy Comg Sieuiser
Cu 2018-a gieusdl eneugbgi.

(2) QAL LwasE eubsted Gagrelaar sareuml euphurs Gsamib vwear Chrsms

GDDEGD.
Seneumid GMuSHsemer Qaremr® sflwmer eflencows CoHhES M.
(A) (1) wi (b afl B) (2) b Hb s
©) (1) wimd (2)-b & D) (1) wpmd (2)-ib seum

g | HSGS/19
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64.

66.

HSGS/19 / 48

Which city hosted the 4th edition of Economic Times — Global Business Summit
(ET-GBS 2018)?

New Delhi (B) Pune
(C)  Mumbai (D) Hyderabad

aramanmils e tbed — @Garrud Gadlarey @gflen (ET-GBS 2018) 4-eug Grsrsms Geuefludli
BEID 6187 '

A) - us 4@6& . B) yGar
(C) @weu - (D) amsyrunsg

Which is called as ‘Blue City’?

W Jodhpur (B) Jaipur

(C)  Jaisalmer (D) Udaipur

‘Bev BETD’ T BimWP&ESLUIU(RGIS) eTSI?
A)  Cgrsum E (B) Qi
(C) GsmwgeGor (D) osuymr

In which year, Indian Space Résearch Organizatign founded?
(A) 1950 j 1969
(0 1972 . (D) 1986

@pdHw elamCeuafl L ymiFs SLSLD 6THS ,aTIq.6 2 (HeuTeTs)?
(A) 1950 (B) 1969
(C) - 1972 (D) 1986

Which is India’s highest military (Award) decoration?
(A)  Kirti chakra - d Paramvir chakra
(C)  Mahavir chakra (D) Ashok chakra -

@Qpdwurellen e 2 wihs @Traniel 65 (Hg) 6T ?
(A  &rgd &éaq_rr (B) unpbeliTssym -
() LO&TEIT F&IT D) =Csrs s&0mT

I



68.

89

«

Match the following using codes given below :

Grassland name Place
(a) Pampas 1. Australia
(b) Steppies 2. Africa
(¢) Velds a Eurasia
(d) Downs 4. Argentina

R ORI

4 3 2 1
B) 4 3 1 2
(@) 3 4 1 2
D) 1 2 3 4

QenaumauaneuHenn @D Hsemer Aaram( U (HSSIS :

LevQeuaflser Guwim DienLoGhlL_LD
(a) - umbumev il < e Credluim
(b) QL4 2. < U fsam
(c) Qeusv(® - 3. wGrélwm
(d) QuLemeen 4. = oyrggenigenT

(@) (b) (@ (d)

A) 4 3 2 1
B) 4 3 1 2
C 3 1 1 2
D) 1 2 3 E

Karakatau volcano situated in which country?
(A) Japan (B)
(C)  New Zealand

s1aLTGeUT 6THDME) DenBSIETET HIT(H s@?
(A)  smiumen (B)
©) Hudonss ; (D)

27

Italy

Indonesia

@gg,rreﬁl.
@ 6GarGenslwim

HSGS/19
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70. The Vijayanagar Empire was founded in the year

(A) 1337AD. @(1336;\]:).
(C) 1338 A.D. (D) 1339 A.D.

silgw Basyu Gupps Carhmeddaiiul L. e

(A) - $.9.1337 (B) £.9.1336
©) &.9.1338 (D) &.9.1339
Tl —— “greatest of the Peshwas”
(A) Sahu

(B)  Balaji Viswanath

Balaji Baji Rao

M Baji Rao

Seigaursseaiichr sene HAnpbselrrs Gurrﬁ)lrﬁr;u LU,
A e

B)  unerg elsveusrs

(©) umered umsilymel

(D) Lmedlymel

72. Who was the chief deity of the Sangam age?
(A) Siva (B) Indra
W Murugan (D) Vishnu

RIS STLSS| (LDSETENLDE HL_6 6T
(A)  SHeuen B) @sdren

C) apmsen (D) efleipemy

HSGS/19 . 128
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73.

|
o

m

The office of the collector at First was created by
(A) Ribbon Prabhu Warren Hastings
(C) Nehru (D) Gandhiji

epgen pgedler wmymed wreul L ot Huirert ugedl o HaurssiulLg? -
(A) Mouer Gy (B) euryen Gameivig e
©) GCopm | “ (D)  smpdled

What is the age qualification for a member of District Panchayat?
21 ) B) 25 '
(C) 30 D) 35.

wreul L uEhEmusSH 2 mUbeTeusnE@ g SEH
A 21 : (B) 25
(€ 30 : D) 35

The Panchayat Raj was Inaugurated by
" Pandit Jawaharlal Nehru (B) Rajaji
(C) Gandhiji (D) Subash Chandra Bose

LI@HFTILISSE @Treefluid wmyre gleumnid eneusslulLgi?
(A)  uamgs geuanierd Grm (B) @uomgrgl
(C)  smpila D) auneay spgly Cumav

Tamil Nadu Chief secretariat which is situated at
(A) High Court (B) Madras University
(C)  Supreme Court ’: WSL George Fort

SO BT 1960 FENentd HFWMED SEDBGIETET @)L 1D
(A) 2w werpbd : (B) Qserener LismE SLP&D

(C) 2584 wamd D) yeafls gy CamenL

29 HSGS/19
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Who is the Head of the Planning Commission in India?
(A) President (B) Vice President
w Prime Minister (D) Supreme Court Judge

@hdws SL & @peilen sSeneeurTas @ (HLLIGUT

A) Erwras samewell B) gwans GRWISEs ST
(C) Apsn : (D) o.ds FHwearn HHUSH

78. The permanent members of the security council in UNO are
(A) 10 B 15

€ . 12 V7 5

. BT ungIsTiY senLlen Blybsr 2 miliy prHsafien eramamil&ms erégenan?
A 10 _ ' (B) 15
C) 12 : D) 5

79. The right to property has been abolished by the amendment of
A 4 (B) 42 :

C€) 43 ' \pf 44

QenggfNewwreng oiglumL 2 fawudamhg Besliul L irdlud omwiys Hmssn
@A) 41 : B) 42
© 43 (D) 44

80. Paying Income Tax signifies
tA) Traditional authority
W Rational - legal authority
(C)  Charismatic authority
(D)  All the above

aupLonen alflenwd QeQISgIBe0 eTamig) ersamand @GN&Sng.
A)  umpbuflu sy EHenLo ;

B)  uEsshley sl y@r@0

(©) SHpuy QUGLSMETLEL I SENEENLD B, (EHENLD

D) Copeamdlu omeansgbd

"HSGS/19 30
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81.

83.

]

An adult is defined as one in the age group

(&) 14-35 ' M 15-35

(C) 16-35 ' (D) 17-35
auwig) euBCHTT eTamiL (6T ———————— QUGS G LU L GUTSHET 6TE 6L6N U MISSLUILIL LG,
(A) 14-35 - (B) . 15-35
(C) '16-35 : M) 17-35

Which year has a special significance in Indian Economy, that has brought about a
significant changes in the economic policies.

- (4) 1981 _ 1991

(C) 2000 (D) 2010

C @pdwul Qumrmearmsrrsler WasHwSHeUDd eumibhs warH wombd Qurmertsry Gamarensullen

Bleu@uilw wrpprisamer aidlpsLILGSS WS

(A) 1981 (B) 1991
(C) 2000 . (D) 2010
In India plan holiday was implemented after ————— five year plan.

(A) Second five year plan

M Third five year plan
(C)  Fourth five year plan
(D) Sixth five year plan

Gpdureile ebs ghsran®h HrisdnG GnG S O oy sefldstucLg?
(A) @newrLmd mbsrenT(h S b

(B)  epenrpmb gpsmanT(H HLLb

(C) prensmbd ghsrem(H S 1b

D) b pHgraT® SLb

Lo HSGS/19
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84. Whom among the following was not a Pindari Chief leader?
(A) Karim Khan
(B) Wasil Muhammad
(C)  Chitu

W Amar Singh Thapa

Bleuisatley GewrLniflgaflen seneveurma e mgeu wiri?
(A)  sfbsner :

B) eurélé psiog

© e

D) siwrém grur

85. By which Act the two Indians were appointed to the India council in England?
(A)  Indian Councils Act of 1861
(B) Indian Councils Act of 1892
W Minto-Morley Reforms of 1909
(D) Monfague'—Chelmsford Reforms of 1919

eTh L Sdlen ppeuid @@ﬁmnﬁﬁa&@ﬁg @nSu sajandlader Grem®H GpSHwrser @b Qubmen?
A) @rdHu seyardlosear L b 1861

B) @BsHu seyendleser s L 1b 1892

(C)  WenCGLr-wried &rdmssmeer 1909

D)  wraGLE-CsbaCuri@ Frdmssmser 1919

86.. Pandit Ishwar Chandra was got the Title of “Vidyasagar”. What is his work?
Spread of education -
(B)  Support to Widow Remarriage Act
(C)  Against Child marriage
(D)  His social works

ueTlq & FrFaveuT SHAT(HEE “eNSWTETsT eremm UL LD 6ThS LIenT&E&ETS ieu(HéE upmSLILILL g)?
(A)  soeilenw urliyeusne@ Conbamemr wpunélser

(B) e&Agemeu flmensans =50 ss56mTeD

(©)  Gwins Hpwarsms sHeWLuTs erdi555T0

D) umerLw seps uanflsear

HSGS/19 : 32
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87.

88.

89.

90.

3% X 2% =10 then the values of x and y respectively, would be

A 3,4 : B) 5,7

@ - 4,3 @!’ 4, 4

3%)(2%: 10 erefled x, y e wHlenu ser(HGg
A 3,4 B). 5,17
© 4,3 D) 4,4

The sum of two numbers is 40 and their difference is 4. Then the ratio of the two number.s 18
1159 (B) 11:18
(CH 2119 D) 22:9

Qranp camsmear sl yamed Haliug 40. sfissred o lug 4 AHs QPUAT(H TERTEHEHSGLD
@erLul L eflflgomensg

(A= 11:9 (B) 11:18

@y -21:19 ' D) .22:9

If the length, breadth and height of a rectangular box are 90 cm, 50 cm and 100 cm
respectively, then its volume will be

(d) 0.45 m? 13(0.45 m?

(C) 4500 cm?® D) 20cm?

Qecueuss Qui_iguien, Ber, Dsw, 2 wgmser wanGuw 90 cm, 50 cm wHHYL 100 cm aafled iFen sean
SleTey -6 AL GTemLig) -

(A) 045 m? ; (B) 0.45 m?

(C) 4500 cm? (D) 20cm?

If 12% of an amount 1s T1080, then the amount is

M £9000 (B) %8000

(C) T7000 (D) %6000

@ dsrensullen 12% eranmuigy T1080 erafler 50FTMSM WIS SHTawTs.
(A) 9000 (B) ¥8000
(®) 27000 : (D) ¥T6000

33 ' _ HSGS/19
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91.  The volume of a solid right circular cone is 4928 cu.cm. If its height is 24 em then find the

22
radius of the cone. [Use o T‘]
7

(A) 49cm o (B) 28cm

(C) 24cm Ml’d cm

@ Sewrn Coiaul L& sblbar sar ere) 4928 &.6088 gear 2 wnb 24 Qab eafld gabGer <,rb

22
SIS @I [Jr =—
Ly
(A) 49 Q&S (B) 28 Qs

(C) 24Qs8 D) 14 Q&8

92. The policy introduced by Govt. of India in 1991 ié

(A) New Education Policy

M New Industrial Policy

(C) New Export-Import Policy

(D)  New Population Policy

1991-1b e wHEHW 27e FHuBSHW LHw Csrarens
A) yduw sweils CaTerens

B) yduw @gn@Q@amﬁma :

(C)  uydw gpmwd, @né&Ewss dareramns

D) ydHw wasdr Qeransd Gardreans

HSGS/19 | 34
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93. The numbers of Prime factors in 2°%* x 3** x5°% is

A 3 (B) 1107

" 1110 (D) 1272

2722 % 333 « 5% _gn LsT sryefsallen cramaEma
@ 3 (B) 1107
©) 1110 ' D)y 1272
94. The approximate standard deviation of 10 natural numbers is
o 287 - B) 2.97
(© 267 D) 2.77

s 10 @uie cramsaflen S vsasdlen Carymu L ererg)

@) 287 B (B) 2.97
(C) 2.67 D) 2.77
- 95. Curved Surface area of Frustum of a cone is

A)  2mh sq.unifs
(B) 2mrhsq.units

(C) arl sq.units

M 7(R + r)l sq.units

Q(H g9 BevL_GaaTL_SFle cuenaTLITLILY GTELIS)
(A) 2mr°h 5. DiVGSET

(B) 27mrh &. e Gs6T

(IC) mrl & seoGaeT

(D) (R + 1)l . @ sar

]
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-5 -2 10

96. How many numbers in the sequence -1, e ??
(A) 26 numbers M?? numbers
(C) 28 numbers (D) 29 numbers
R ; s : ool
-1, T Qg euflensuded 2 cmer 2 miLiLseflen eramranilseans wirg?
(A) 26 2 plyser | (B). 27 o mliyser
(C) 28 o puyser : D) 29 o giiyse
97.  Find the 8% term of the sequence whose general term is 2n® —3n +1
f 105 ®) 110

(B i A A D) 120

@@ ATt auflensulien Qurg o iy 2n” ~3n+1 e 8 b 2 ML &TeRTs

(A) 105 (B) 110
© 115 | ' D) 120
98. If a®> +b% =117 and ab =54 find the {aalue ofis +b
: a—
@A 6 @ 4 -

j 5 | D) 2

a® +b? =117 erafié ab =54 wysaib AHEEHLCLNS “—*2_«;&1 iy
a.—

(=565 : B) 4
€ 5 D)

(k]
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99. The Simple interest on a certain sum for 3 years at 14% per annum is Rs.235.20. The sum is

. (A) Rs.480
G’ Rs.560
(©) Rs.650
(D) Rs.720

@m Asrasuiar safl aully 3 SaTHHEHHES @.235.20 Cogib el g igb 14% crafler 2is0sTams e

AL GTenLIs)
(A) w480
(B)  .560
€) @650
D) m.720

100. Find the compound interest on Rs.50,000 at 16% per annum for 2 years compounded
continuously. ] '

\g/ Rs.17,280
(B) Rs.16,280
(C) Rs.15,280
(D) Rs.14,280

15.50,000 is@é@ 16% aul iy i558 D@ 2 amhaaficn gal (Heul iy eremen?
A).  5.17,280
B)  5.16,280
(C) e,.15,280
D)  @.14,280

= | ol ' HSGS/19
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oN NONG
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examination. After the examination is concluded. you must hand over vour Answer Sheet to the
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In all matters and in cases of doubt, the English version is final.
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answer fields left blank. :
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